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X% HENDSII AT [2AtHE [SAtHTE [4AtHTE [SAtHT [6 AT |[ZAUEDHGE

EE—TH 56 24 16 10 6 0 0 0
BEE_TH 61 33 18 1 6 1 2 0
=EZ==TH 8 3 2 0 1 1 0 1
HWLU—TH 443 257 71 44 55 15 1 0
¥IL-TH 874 252 279 168 139 34 2 0
BLU=TH 237 73 81 41 32 7 2 1
RLUMTH 183 57 48 37 33 7 1 0
BRILATH 659 321 170 90 56 15 4 3
£RI—TH 202 94 67 22 17 2 0 0
£RI—TH 427 203 105 61 41 16 1 0
SHE—TH 132 43 25 25 26 9 2 2
SHEE_TH 70 29 19 8 10 3 1 0
SHE=TH 376 93 78 73 98 26 7 1
SHEEMTH 251 38 29 57 84 40 2 1
SEERTH 19 4 8 2 4 0 1 0
SHEARTH 98 50 18 15 12 2 1 0
SHEETH 764 256 301 130 60 15 1 1
A 58 19 18 5 11 3 2 0
MES: 354 153 96 51 37 15 2 0
MENG] 197 49 41 32 50 22 3 0
1IE¥[4 275 124 88 41 13 8 0 1
wUE—TH 448 157 140 71 63 13 4 0
BUE=TH 506 182 156 79 68 17 3 1
AUE=TH 290 86 86 48 53 12 5 0
AUEMTH 945 590 238 79 23 11 2 2
BWUEARTH 1,063 594 317 105 35 11 1 0
ALUE/STH 557 218 194 87 40 17 0 1
KEF 404 154 98 63 56 31 2 0
AREE—TH 588 221 176 106 64 18 1 2
XHEE-TH 494 167 163 95 54 13 2 0
KEFEE=TH 485 154 189 73 44 18 7 0
KEFEEETH 449 143 168 70 48 14 4 2
AEHEEARTH 340 119 110 55 46 8 0 2
KEE/NRTH 520 197 159 94 51 16 3 0
AXHEELTH 285 73 112 50 34 13 3 0
N 100 26 35 19 17 1 2 0
NS 143 22 18 30 47 20 5 1
MAEHRE—TH 347 108 117 71 38 12 1 0
MAREHEZTH 258 76 81 46 39 15 1 0
MAEBHE=TH 264 95 72 48 43 5 1 0
MEF—TH 665 276 168 111 86 20 2 2
MmEB—TH 378 141 88 71 54 17 7 0




Hh X - 1 A B A H R

SM6E12831HIBE
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AP =TH 661 210 162 139 116 30 3 1
MARIE—TH 130 52 43 19 13 3 0 0
tEIE—THB 320 141 89 54 27 8 1 0
M2ZzE—TH 33 12 8 5 5 3 0 0
theBE_—T 8 42 18 11 8 3 2 0 0
MZE=TH 127 40 44 19 19 4 1 0
MmZEETH 276 67 90 66 42 8 1 2
BEitmR—TH 343 180 110 35 15 1 2 0
BitRE_—TH 653 177 143 125 149 52 6 1
BithAE=TH 355 112 96 50 73 20 3 1
BEMREMTH 87 34 10 17 20 5 1 0
BitAATH 358 103 72 64 82 36 1 0
REHAE—TH 467 142 110 79 94 39 2 1
REHE_TH 23 9 7 3 2 2 0 0
BHHAE=TH 53 18 20 8 3 4 0 0
HHAETH 18 8 6 4 0 0 0 0
BHFH—TH 153 68 44 23 14 3 0 1
RERF_-TH 186 64 65 28 25 3 0 1
REBH=TH 249 85 84 44 26 9 1 0
BEHDMTH 9 3 4 1 1 0 0 0
BHETATH 8 5 1 2 0 0 0 0
HEE—TH 9 6 2 1 0 0 0 0
BEw A—TH 1,018 372 312 188 113 28 5 0
BENA_TH 264 92 68 39 52 12 1 0
BHENA=TH 148 25 26 25 59 12 1 0
BEGAMNTH 48 41 4 2 1 0 0 0
*H—TH 266 117 75 44 27 3 0 0
+H_TH 577 262 125 73 89 25 2 1
FH=TH 669 300 184 102 63 16 3 1
FHETH 11 3 3 2 1 2 0 0
FHATH 435 145 112 69 84 23 2 0
FHATH 251 108 51 41 39 10 1 1
EEAK—TEHE 43 11 14 7 8 3 0 0
EEA—T R 370 153 122 60 26 9 0 0
ESEA=TE 542 218 129 86 85 22 2 0
EHAMETE 435 200 107 66 42 14 6 0
ESART B 228 104 55 36 27 5 1 0
EEANTE 468 190 83 84 75 29 7 0
ZrA+tTE 326 124 80 49 57 14 2 0
Z5uA/NTE 515 162 157 83 83 29 1 0
=X-1i 26,447] 10,155 7,391 4,234 3,454 1,031 147 35




